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A B C D E F G H I J K L M N O Q R S T

rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &

001_0005 00.052,91$ 00.0$ 00.000,53$ 00.0$

011_0005 00.057,61$ 00.000,24$ 21.915,6$ 00.000,24$ %0

001_0025 00.0$ 00.0$ 00.0$ 00.0$

001_0045 00.0$ 00.312,3$ 50.491,3$ 00.312,3$ %0

00.000,63$ 00.312,54$ 71.317,44$ 00.312,54$ %0

0106 88.832,5$ 00.0$ 00.0$ 00.0$

811_0056 94.373,62$ 00.0$ 00.0$ 00.0$

5056 00.0$ 00.0$ 00.0$ 00.0$

001_5056 00.0$ 00.000,3$ 05.112$ 00.000,5$ %001-

501_5056 00.0$ 00.000,3$ 00.576$ 00.000,5$ %001-

002_5056 00.0$ 00.000,3$ 13.610,1$ 00.000,5$ %001-

502_5056 00.0$ 00.000,3$ 05.613$ 00.000,5$ %001-

003_5056 00.0$ 00.000,3$ 05.471,1$ 00.000,5$ %001-

503_5056 00.0$ 00.000,3$ 05.147,1$ 00.000,5$ %001-

004_5056 00.0$ 00.000,3$ 00.0$ 00.000,5$ %001-

504_5056 00.0$ 00.000,3$ 00.576$ 00.000,5$ %001-

005_5056 00.0$ 00.000,3$ 00.947$ 00.000,5$ %001-

505_5056 00.0$ 00.000,3$ 60.713,1$ 00.000,5$ %001-

006_5056 00.0$ 00.000,3$ 00.571,1$ 00.000,5$ %001-

506_5056 00.0$ 00.000,3$ 00.692,2$ 00.000,5$ %001-

007_5056 00.0$ 00.000,3$ 00.576$ 00.000,5$ %001-

507_5056 00.0$ 00.000,3$ 00.002,1$ 00.000,5$ %001-

73.216,13$ 00.000,24$ 73.222,31$ 00.000,07$ %76

73.216,76$ 00.312,78$ 45.539,75$ 00.312,511$ %23
73.216,76$ 00.312,78$ 45.539,75$ 00.312,511$ %23

73.216,76$ 00.312,78$ 45.539,75$ 00.312,511$ %23

)73.216,76$( )00.312,78$( )45.539,75$( )00.312,511$( %23dnuF lareneG :latoT dnuF )00.486,311$( )00.000,82$(

licnuoC ytiC :latoT tnemtrapeD 00.486,311$ 00.000,82$

slatoT esnepxE 00.486,311$ 00.000,82$

gnitarepO lareneG :latoT 00.486,17$ 00.000,82$

nimdA :latoT noisiviD 00.486,311$ 00.000,82$

seryA - 7 draW rolicnuoC 00.0$ )00.000,3$(

dnargeL - 7 draW rolicnuoC 00.0$ )00.000,3$(

sialB -6 draW rolicnuoC 00.0$ )00.000,3$(

luaP - 6 draW rolicnuoC 00.0$ )00.000,3$(

nonnahS - 5 draW rolicnuoC 00.0$ )00.000,3$(

nosaM - 5 draW rolicnuoC 00.0$ )00.000,3$(

ttentraH - 4 draW rolicnuoC 00.0$ )00.000,3$(

thgirW - 4 draW rolicnuoC 00.0$ )00.000,3$(

nannerB - 3 draW rolicnuoC 00.0$ )00.000,3$(

legeiS - 3 draW rolicnuoC 00.0$ )00.000,3$(

lledonK - 2 draW rolicnuoC 00.0$ )00.000,3$(

ycarT - 2 draW rolicnuoC 00.0$ )00.000,3$(

rohsuB - 1 draW rolicnuoC 00.0$ )00.000,3$(

nrubloC - 1 draW rolicnuoC 00.0$ )00.000,3$(

secivreS lautcartnoC secivreS tnatlusnoC dna lanoisseforP 00.486,56$ 00.000,07$

rolicnuoC 00.0$ 00.0$

secivreS lanosreP :latoT 00.000,24$ 00.0$

gnitarepO lareneG

tnempiuqE retupmoC 00.000,6$ 00.0$

segaW denoissimmoC ecivreS lanosreP rehtO 00.0$ 00.0$

ACIF stifeneB eeyolpmE 00.0$ 00.0$

secivreS lanosreP

emiT lluF ,ralugeR segaW dna seiralaS 00.0$ 00.0$

emiT traP ralugeR segaW dna seiralaS 00.000,24$ 00.0$

sesnepxE

tnemtrapeD 10 licnuoC ytiC

noisiviD 000 nimdA

TV ,notgnilruB fo ytiC

tropeR teehskroW tegduB

noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
dnuF 101 dnuF lareneG

 eevoB ymA :resu  2 fo 1 segaP  4102 ,11 enuJ ,yadsendeW 
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A B C D E F G H I J K L M N O Q R S T

rebmuN tnuoccA
 lautcA 3102

tnuomA
 dednemA 4102

tegduB

 lautcA 4102
 fo sa tnuomA

41/11/6
 sroyaM 5102

dednemmoceR
 51 YF ffiD %

41 YF &noitpircseD
 dednemA 3102

tegduB
 & 51 YF ffiD $

41 YF
93
04
14
24

00.0$ 00.0$ 00.0$ 00.0$ +++

73.216,76$ 00.312,78$ 45.539,75$ 00.312,511$ %23

)73.216,76$( )00.312,78$( )45.539,75$( )00.312,511$( %23
:slatoT dnarG esnepxE 00.486,311$ 00.000,82$

:slatoT dnarG teN )00.486,311$( )00.000,82$(

:slatoT dnarG euneveR 00.0$ 00.0$

 eevoB ymA :resu  2 fo 2 segaP  4102 ,11 enuJ ,yadsendeW 


